Proving Congruent Triangles

Side-Side-Side Postulate (SSS) - If the sides of one triangle are congruent to the sides of a second triangle, then

the triangles are congruent.
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Side-Angle-Side Postulate (SAS) - If two sides and the included angle of one triangle are congruent to two sides and the

included angle of another triangle, then the triangles are congruent.
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Angle-Side-Angle Postulate (ASA) - If two angles and the included side of one triangle are congruent to two angles and the

included side of another triangle, then the triangles are congruent.
B E

Angle-Angle-Side Theorem (AAS) - If two angles and a nonincluded side of one triangle are congruent to the

corresponding two angles and side of a second triangle, then the triangles are congruent.
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C.P.C.T.C. - Corresponding Parts of Congruent Triangles are Congruent

Directions: Write a proof for each.
1. Given: XD = XE D,
C is the midpoint of DE
Prove: aADBC =aEAC

Statement Reason
1. XxD=<XE 1. Given

C is the midpoint of DE

2. Given: DE bisects BA

BA bisects DE
Prove: ADBC =aEAC

Statement Reason
1. DE bisects BA 1. Given
BA bisects DE



3. Given: aABC is an isosceles triangle with vertex XABC

D is the midpoint of AC
Prove: aABD =aCBD

A
Statement Reason
1. aABC is an isosceles triangle with vertex <ABC 1. Given

D is the midpoint of AC
4. Given: BD L AC

BD bisects AC
Prove: AABD =aCBD
A

Statement Reason
1. BD L AC 1. Given

BD bisects AC



5. Given: AB||DC

BC|| AD
Prove: A= xC
D
Statement Reason
1. AB||DC 1. Given
BC|| AD

6. Given: XADB = £CBD

DA=BC
Prove: AB=CD
D
Statement Reason
1. XADB = XCBD 1. Given

DA=BC



7. Given: XBDE = XBED
£A= xC
AD =CE
Prove: aBAE =aBCD

Statement

1. ¥BDE = xBED
£A=XC
AD =CE

8. Given: XABE = XCBD
£A=xC
AB=CB
Prove: ~ABD =aCBE

Statement

1. XABE = XCBD
XAz XC
AB=CB

A

Reason
1. Given

A

Reason
1. Given

D

D



9. Given: XABD = XCBE
£XA=XC
AB=CB

Prove: AE =CD

A D
Statement Reason
1. XABD = XCBE 1. Given
£XA=xC
AB=CB
10. Given: AE=CD
£XA=XC
AB=CB
Prove: DB = EB
A D
Statement Reason
1. AE=CD 1. Given

£A=«C
AB=CB



11. Given: aABC is an isosceles triangle with base AC
XBDE = XBED
£A=XC
Prove: AABE =AaCBD

A D

Statement Reason
1. aABC is an isosceles triangle with base AC 1. Given

ABDE = XBED

£AA=xC
12. Given: XABE = XDCE B

AEAD = XEDA
Prove: BA=CD
A

Statement Reason
1. XABE = XDCE 1. Given

£EAD = XEDA



13. Given: £A= XABE
XECD = xD
£XA=«D
AE = DE
Prove: ABEC is an isosceles triangle

Statement Reason
1. XA= XABE 1. Given
XECD = xD
£LA= XD

AE =DE





